


 
 

                    Part –I (Reasoning Test)                     
According to the specific pattern fill the 
blank spaces of letter series in the 
following question 
 

ਹੇਠ ਿਲਖੇ ਪ�©ਨ� ਿਵੱਚ ਅੱਖਰ ਲੜੀਆਂ ਿਕਸੇ ਤਰਤੀਬ 

ਅਨੁਸਾਰ ਹਨ। ਤਰਤੀਬ ਨੰੂ ਪੂਰਾ ਕਰਨ ਲਈ ਠੀਕ �ਤਰ 

ਦੀ ਚਣੋ ਕਰੋ। 

1 _acca_ccca_acce_aan 
 
(1) acca  (2)  caaa  
 (3) ccaa   4) caac 

1 _acca_ccca_acce_aan 
 
(1) acca    (2)  caaa   
 (3) ccaa   4) caac 

2   b _abbc bbca_beabb_ab 
 
(1)acaa   (2) acba 
(3) cabc   (4)cacc 

2.   b _abbc bbca_beabb_ab 
 
(1)acaa  (2) acba 
(3) cabc  (4)cacc 

3 __aba__ba_ab 
 
(1) abaab   (2) abbab     
(3) baabb      (4)bbaba  

3 __aba__ba_ab 
 
(1) abaab       (2) abbab    
 (3) baabb      (4)bbaba  

4  41, 43, 47, 53, 59,........ 
(1) 61   (2) 63   
 (3) 67    (4) 69 

4  41, 43, 47, 53, 59,........ 
(1) 61           (2) 63   
 (3) 67          (4) 69 

5 2,3,5,8,13,21,34,.... 
    (1) 41       (2)   53 
    (3) 55     (4) 59 

5. 
 

2,3,5,8,13,21,34,.... 
 (1) 41          (2)   53    
 (3) 55          (4) 59 

6 1,9,17,33, 49, 73,...... 
(1) 85              (3) 93   
 (2) 87             (4) 97 

6 1,9,17,33, 49, 73,...... 
(1) 85         (3) 93   
 (2) 87        (4) 97 

7 720, 120, 24, 6, 2,1,..... 
 
(1) 0      (2) 1     (3) 2      (4) 3 
 

7 720, 120, 24, 6, 2,1,..... 
 
(1) 0     (2) 1      (3) 2      (4) 3 
 

8 0.50, 0.55, 0.65, 0.8,..... 
 
(1) 0.9  (2)  0.55   (3) 0.1   (4) 0.95 
 

8 0.50, 0.55, 0.65, 0.8,..... 
 
(1) 0.9  (2)   0.55   (3) 0.1   (4) 0.95 
 

9 BD3, GIS, LN13, QS 18,... 
(1) VX23       (2) VY23  
(3) WY 28     (4) X225 

9 BD3, GIS, LN13, QS 18,... 
(1) VX23        (2) VY23   
 (3) WY 28     (4) X225 

10 11, 12, 16, 25, 41, .... 
 (1) 55        (2) 66  
 (3) 77        (4) 33 

10 11, 12, 16, 25, 41, .... 
 (1) 55            (2) 66 
 (3) 77             (4) 33 

11  2,-4, 8, -16, 32,..... 206 
(1) -64                 (2) 64  
(3) -48                (4) 48 

11  2,-4, 8, -16, 32,..... 206 
(1) -64       (2) 64 
(3) -48       (4) 48 



 
 

12 Find the wrong/odd number or 
term from the given questions: 
 
53,59,61,69,71,79 
 
 (1) 53                  (2) 59     
 (3) 69                 (4) 71 

12 ਹੇਠ� ਿਦੱਤ ੇਪ�©ਨ� ਿਵੱਚ ਗਲਤ/ਵੱਖਰਾ 

ਅੰਕ ਜ� ਪਦ ਚੁਣੋ: 

53,59,61,69,71,79 
 
(1) 53               2) 59   
 (3) 69             (4) 71 

13 64, 121, 149, 225, 324, 484 
 (1) 64         (2) 149                       
(3) 324        (4) 484 

13 64, 121, 149, 225, 324, 484 
 (1) 64       (2) 149                                    
(3) 324      (4) 484 

14 BCD, NPR, KLM, HGF, UVW 
1) BCD        (2) NPR 

    (3) KLM         (4) HGF 

14 BCD, NPR, KLM, HGF, UVW 
1)BCD        (2) NPR 
(3) KLM      (4) HGF 

15 Which of the following word can not 
be formed from the letters of the 
word:  
'”ORGANISATION” 
(1) NATION           (2) GRANT 
 (3) RECOGNISE  (4)  SATAN 

15 'ਹੇਠ ਿਲਿਖਆ ਿਵੱਚ� ਿਕਹੜਾ ਵਾਕ ਿਦੱਤੇ ਗਏ ਲਾਕ 

ਦੇ  ਅੱਖਰ�  ਤ� ਨਹੀ ਬਣਦਾ  
“ORGANISATION” 
(1) NATION           (2) GRANT  
(3) RECOGNISE   (4)  SATAN 

16 'IMMEDIATELY’ 
(1) DIALECT          (2) LIMITED   
(3) DIAMETER      (4) DICTATE 

16 'IMMEDIATELY’ 
(1) DIALECT          (2) LIMITED   
(3) DIAMETER       (4) DICTATE 

17 if += -,- =+,+ = x,x =+ then find the 
value of 2+40x20-8+5 
(1) 17            (2) 7               
 (3) 27          (4) 5 

17 if += -,- =+,+ = x,x =+ then find the 
value of 2+40x20-8+5 
(1) 17              (2) 7               
 (3) 27            (4) 5 

18  If BLUE-160, Then BOOK=? 
(1)  43               (2)  172   
 (3)  162             (4)  182 

18 ਜੇਕਰ  BLUE-160, ਤ� BOOK=? 

(1)  43                (2)  172  
 (3)  162            (4) 182 

19  If the day before yesterday was 
Monday, What will be the day after 
tomorrow? 

(1) Friday    (2) Saturday 
(3) Monday    (4) Tuesday 
 

19 ਜੇਕਰ ਬੀਤੇ ਕਲ ਤ� ਇੱਕ ਿਦਨ ਪਿਹਲ� ਸੋਮਵਾਰ 

ਸੀ ਤ� ਆਉਣ ਵਾਲੇ ਕੱਲ� ਤ� ਬਾਅਦ ਿਕਹੜਾ ਿਦਨ 

ਹੋਵੇਗਾ 

(1) ©ੁੱ ਕਰਵਾਰ      (2) ©ਨੀਵਾਰ  

  3) ਸਮੋਵਾਰ       (4) ਮੰਗਲਵਾਰ  

20  If the day before yesterday was 
Monday, What will be the day after 
tomorrow? 
(1) Friday         (2)   Saturday    
(3) Monday      (4)   Tuesday 

20 ਜੇਕਰ  ਬੀਤ ਿਗਆ ਪਰਸੋ ਦਾ ਿਦਨ  ਸਮੋਵਾਰ ਸੀ 

ਤ�  ਆਉਣ ਵਾਲਾ ਕੱਲ ਿਕਹੜਾ ਵਾਰ ਹਵੋੇਗਾ। 
(1) Friday      (2)  Saturday    
(3) Monday   (4)   Tuesday 

21  A cube of a side 12cm is cut into 
small cubes of side 4cm. How many 
small cubes of side 2cm can be  

21  9 ਇੱਕ 12 ਸਮ ਭੁਜਾ ਵਾਲੇ ਘਟ ਨੰੂ 4 ਸਮ ਭੁਜਾ 

ਵਾਲੇ ਫੋਟ ੋਘਣ� ਿਵੱਚ ਕੱਟਣ ਤੇ ਕੁੱ ਲ ਿਕੰਨĂ  ਘਣ 



 
 

formed? 
(1) 9                  (2) 16                   
(3) 27                (4)   64 

ਬਣਨਗੇ ? 

 (1) 9                      (2) 16                   
(3) 27                     (4)   64 

22 The ratio of areas of two circles is 
9:25. What is the ratio in their 
perimeters? 
 
(1) 3:4    (2) 3:5     (3)  9:16  (4) 9:25 
 

22 ਦੇ ਚੱਕਰ� ਦੇ ਖੇਤਰਫਲ� ਿਵੱਚ ਅਨੁਪਾਤ 9:25 

ਹੈ।ਉਹਨ� ਦੇ ਪਿਰਆਪ� ਿਵੱਚ ਅਨੁਪਾਤ ਕੀ 

ਹੋਵੇਗਾ? 

(1) 3:4   (2) 3:5   (3)  9:16   (4) 9:25 

23  The month June of a year starts 
with Tuesday. Which is the first day 
of September? 
 
(1) Tuesday        (2) Wednesday  
(3) Thursday      (4) Friday 
 
 

23 ਿਕਸੇ ਸਾਲ ਿਵਚ ਜੂਨ ਦਾ ਮਹੀਨਾ ਮੰਗਲਵਾਰ ਨੰੂ 

ਸ਼ੁਰੂ ਹੁੰ ਦਾ ਹੈ। ਸਤੰਬਰ ਦ ੇਮਹੀਨਾ ਦਾ ਪਿਹਲਾ 

ਿਦਨ  ਿਕਹੜਾ ਹੋਵੇਗਾ। 

(1) ਮੰਗਲਵਾਰ    (2) ਬੁੱ ਧਵਾਰ 

(3) ਵੀਰਵਾਰ    (4) ©ੱੁਕਰਵਾਰ 

24 How many 9's are there in the 
following number sequence which 
are immediately preceded by 6 but 
not followed by 4. 
954269436953598439692406943 
 
1) 6       (2) 4    (3) 1    (4)  2 

 

24   ਹੇਠ ਿਲਖੀ ਲੜੀ ਿਵੱਚ ਅੰਕ 9 ਿਕੰਨੀ ਵਾਰ 

ਆ�ਦਾ ਹੈ ਜਦ� ਉਸਤ� ਪਿਹਲ� ਅੰਕ 6 ਹੋਵੇ ਪਰ 

ਬਾਅਦ ਿਵੱਚ ਅੰਕ 4 ਨਾ ਆ�ਦਾ ਹੋਵੇ: 
954269436953598439692406943 
 
(1) 6       (2) 4     (3) 1    (4)    2 

25 How many 4's are there in the 
following number sequence which 
are immediately preceded by 7 but 
not followed by 3? 
 
59321742697461328741383256748
7463 
 
(1) 3       (2) 6        (3) 4       (4)  5 

25  ਹੇਠ ਿਲਖੀ ਲੜੀ ਿਵੱਚ ਅੰਕ 4 ਿਕੰਨੀ ਵਾਰ 

ਆ�ਦਾ ਹੈ ਜਦ� ਉਸਤ� ਪਿਹਲ� ਅੰਕ 7 ਹੋਵੇ ਪਰ 

ਬਾਅਦ ਿਵੱਚ ਅੰਕ 3 ਨਾ ਹੋਵੇ 

 
593217426974613287413832567439
87463 
 
(1) 3     (2) 6       (3) 4    (4)  5 

26  Deepak is standing in a queue in 
the bank to withdraw money. His 
position is 17th from back end and 
6th from front side. How many total 
persons in the queue? 
 
(1) 20      (2) 21     (3) 22     (4) 23 

26 ਬ�ਕ ਿਵੱਚ� ਪੈਸੇ ਕਢਵਾਉਣ ਗਏ ਦੀਪਕ ਦਾ ਕਤਾਰ 

ਿਵੱਚ ਿਪਛਲੇ ਪਾਸੇ ਤ� 17 ਵ� ਸਥਾਨ ਹ ੈਅਤੇ 

ਅਗਲੇ ਪਾਸ ੇਤ� 6 ਵ� ।ਕਤਾਰ ਿਵੱਚ ਕੁੱ ਲ ਿਕੰਨĂ  

ਿਵਅਕਤੀ ਹਨ। 
(1) 20     (2) 21    (3) 22     (4) 23 

27 If 1st January 2020 was Monday, 
then what day of the week was it on 
31st December 2021? 
 

27 ਜੇਕਰ 1 ਜਨਵਰੀ 2020 ਨੰੂ ਸੋਮਵਾਰ ਸੀ, ਤ� 31 

ਦਸੰਬਰ 2021 ਨੰੂ ਿਕਹੜਾ ਿਦਨ ਹੋਵੇਗਾ? 

 



 
 

(1) Monday     2) Wednesday            
(3) Sunday     (4) Friday 

(1) ਸੋਮਵਾਰ  (2) ਬੁੱ ਧਵਾਰ 

(3) ਐਤਵਾਰ  (4) ਸ਼ੁਕਰਵਾਰ 

28 Choose the word which is least like 
the other words in the group? 
(1) Rain      (2) Earthquake 
(3) Storm      (4) Flood 
 
 

28 ਉਹ ©ਬਦ ਚੁਣੋ ਜੋ ਗਰੱੁਪ ਦੇ ਬਾਕੀ ©ਬਦ� ਨਾਲ� 

ਿਕਸੇ ਤਰ�� ਨਾਲ  ਵੱਖਰਾ ਹੋਵੇ; 

(1) ਵਰਖਾ   (2) ਭੂਚਾਲ 

(3) ਤੂਫਾਨ   (4) ਹੜ� 

29 How many numbers are there 
between 2 and 80 which are 
divisible by 9. 
(1) l0                  (2) 9 
 (3) 7                  (4) 8 

29 2 ਅਤੇ 80 ਿਵਚਕਾਰ ਿਕੰਨĂ  ਅੱਖਰ ਆਉਦੇ ਹਨ ਜੋ 

ਿਕ 9 ਨਾਲ ਭਾਗ ਹੋ ਸਕਣa 

1) 10                2) 9     

3) 7                 4) 8 

30 Choose the word which is different 
from the other words in the group? 
(1) India      (2) Islamabad 
(3) Sri Lanka (4) Nepal 
 

30 ਉਹ ©ਬਦ ਚੁਣੋ ਜੋ ਗਰੱੁਪ ਦੇ ਬਾਕੀ ©ਬਦ� ਨਾਲ�  

ਵੱਖਰਾ ਹੋਵੇ : 

(1) ਭਾਰਤ    (2) ਇਸਲਾਮਾਬਾਦ 

(3) ©�ੀ ਲੰਕਾ    (4) ਨĂ ਪਾਲ 

31  Find the measure of each exterior 
angle of a regular polygon whose 
number of  sides is 12: 
1) 45o            2)90o    
2) 3) 180o  4)30o 

 

31 ie`k ਸਮਬਹੁਭੁਜ ਦy ਹਰੇਕ ਬਾਹਰੀ ਕੋਣ ਦਾ ਮਾਪ 

ਦੱਸ ੋਜੇਕਰ ਇਸਦੀਆਂ ਭੁਜਾਵ� ਦੀ ਿਗਣਤੀ 12 

ਹੋਵੇ : 

1)45o           2)90o    
3) 180o  4)30o 

32 Which of the following statement is 
incorrect? 
1) All squares are rectangles. 
2) All Kites are parallelograms. 
3) All squares are rhombuses as 
well  as rectangles  
4) All rectangles are quadrilaterals 

32 ਹੇਠ ਿਲਿਖਆਂ ਿਵਚ� ਿਕਹੜਾ ਕਥਨ ਸਹੀ ਨਹ� ਹੈ?  

1) ਸਾਰੇ ਵਰਗ,ਆਇਤ ਹੁੰ ਦੇ ਹਨ। 

2) ਸਾਰੀਆਂ ਪਤੰਗ�, ਸਮ�ਤਰ ਚਤੁਰਭੁਜ ਹੰੁਦੀਆਂਹਨ।  

3) ਸਾਰੇ ਵਰਗ, ਸਮਚਤਰਭੁਜ ਅਤੇ ਆਇਤ ਵੀ ਹੰੁਦੇ ਹਨ।  

4) ਸਾਰੇ ਆਇਤ, ਚਤਰਭੁਜ ਹੁੰ ਦੇਹਨ।  

33 What is the ratio of 50m with 5 km? 
1)1:1  2)1:100     
3) 100:1 4)10:1 
 

33 50 ਮੀਟਰ ਦਾ 5 ਿਕ.ਮੀ ਨਾਲ ਕੀ ਅਨੁਪਾਤ 

ਹੋਵੇਗਾ 
 1)1:1  2)1:100     
3) 100:1 4)10:1 

34  An amount has been borrowed at the 
rate of 12% per annum for two years. If 
the interest has been added half yearly 
then how many times the interest will 
be given? 

34 ਇੱਕ ਰਾ©ੀ12ਪ�ਤੀ©ਤ swlwnw ਦਰ ਤ ੇਦੋ ਸਾਲ 

ਦ ੇਲਈ ਉਧਾਰ ਲਈ jWdI ਹ[ੈ jykr ivAwਜ 

ਿਛਮਾਹੀ joiVAw jWdw hY qW ਿਕੰਨੀ ਵਾਰ 



 
 

 
1) 1   2) 2   
3) 3   4) 4 

ਿਵਆਜ ਦੇਣਾ ਹੋਵੇਗਾ ?                                                        

1) 1   2)  2  
3) 3  4)  4 

35 8a15÷ 2a10 = ________ 
1) 4a5                2)10a150  
3) 4a150       4) 6a5 
 

35  8a15÷ 2a10 = ________ 
 1) 4a5                        2)10a150  
 3) 4a150             4) 6a5 
 

36 Multiplicative inverse of62is: 
1) 6-2                     2) 62 

3)               4)26 

36 62dw guxwqmk ault hovygw: 
1) 6-2                    2) 62 

3)             4)26 

37 Value of (3  -1  +4  -1  + 5-1)-1   is : 

1) 1                    2) 1/12 
 3)47/60            4) 60/47 

37 (3  -1  +4  -1  + 5-1)-1dw mul̀ kI hovygw? 
1) 1                      2) 1/12  
3)47/60             4) 60/47 

38 Standard form of 31860000000 is: 
1) 3.186 x 107           2)  3.186 x 1010   
3)3.186 x 10-10      4) 3.186 x 10-7 

38 31860000000dw imAwrI rUp hY : 
1) 3.186 x 107              2)  3.186 x 1010   
3)3.186 x 10-10        4) 3.186 x 10-7 

39  A shopkeeper sells two watches each 
of rupees 990, one at 10% profit and 
another at 10% loss. In whole what did 
shopkeeper get?         
1)Profit                          2)Loss    

3)No profit no loss      

4)Can not be determined 

39  ie~k dukwndwr 990 rupey pRqI GVI dI 
dr nwl do GVIAW vycdw hY ie~k 10% LwB 
au~qy Aqy dUsrI 10% hwnI au~qy[ ku`l imlw 
ky dukwndwr ny kI pRwpq kIqw? 
1) ਲਾਭ  2) ਹਾਨੀ   

3) ਨਾ ਲਾਭ ਨਾ ਹਾਨੀ  

4) ਪਤਾ ਨਹੀ ਕੀਤਾ ਜਾ ਸਕਦਾ 

40  
 
 
 
 
 
Find the area of the given 
parallelogram . 
a) 16cm2  b) 15cm2 
c ) 14cm2  d) 12cm2 

40  
 
 
 
 
 

id`qy smWqr cqurBuj dw KyqrPl pqw kro[ 
a) 16cm2  b) 15cm2 
c ) 14cm2  d) 12cm2 

 

41 Solve: x + 7 – 8x/3 = 17/6 – 5x/2 
1) 1/5   2) 5                     
3 ) -5   4) 2/5 

41 ਹੱਲ ਕਰ:ੋ x + 7 – 8x/3 = 17/6 – 5x/2 

1) 1/5                       2) 5                   
  3 ) -5   4) 2/5 

42 The histogram below shows the age of 
the participants in a play. How many 
participants are below the age of 25 
years?  

42 hyTW id~qw Awieq ic~qr ie~k Kyf dy 
pRqIBwgIAW dI aumr drswauNdw hY[ ikMny 
pRqIBwgIAW dI aumr 25 swlW qoN G~t hY 



 
 

1) 10   2)  8             3)  6     4)  4 1) 10 2)  8             3)  6          4)  4 
43 

Which of the following has its 1/3rd part 
shaded? 
 
1)1        2) 2           3) 3            4) 4 
 

43 hyT id`qy gey ic`qrW iv`coN iks ic`qr dw 
1/3ਵ� Bwg CwieAw AMikq hY? 

1)  1          2) 2           3) 3           4) 4 
 

44  If the interest on any amount is 
calculated annually,then the compound 
interest is    
1) Less than  simple interest) 

2)Greater than  simple interest) 

3)equal to simple interest) 

4) Can’t say anything) 

 

44 ਜਕੇਰ ਿਕਸ ੇ ਰਾਸ਼ੀ ਤ ੇ ਿਵਆਜ ਸਲਾਨਾ ਲਗਦਾ 

ਹੋਵੇ , ਤ� ਇੱਕ ਸਾਲ ਦਾ ਿਮ©ਿਰਤ ਿਵਆਜ 

ਹਵੋੇਗਾ?    

1) ਸਧਾਰਨ ਿਵਆਜ ਤ� ਘੱਟ। 

2)ਸਧਾਰਨ ਿਵਆਜ ਤ� ਵੱਡਾ।  

3) ਸਧਾਰਨ ਿਵਆਜ ਦੇ ਬਰਾਬਰ।  

4)ਕੁੱ ਝ ਿਕਹਾ ਨਹ� ਜਾ ਸਕਦਾ ।  

45 Which of the following  is equal to 4-4  ?  
          
1) 8-2  2) 2-6    
3) 2-8  4)  (16)2 
 

45   
4-4 dw mu`l hyT iliKAW iv`coN iksdy brwbr 
hY? 
1) 8-2   2) 2-6   
3) 2-8   4)  (16)2 

46 If  , then value of  is:   

a)    b)   

c) 15   d) 10 

46   j't/ sK  dk w[Zb j't/rkL 

a)    b)    

c) 15   d) 10 
47 The number of students in a hostel, 

speaking different languages, is 
given below. If this data is 
represented in  pie graph, then what 

47 .ਇੱਕ ਹੋਸਟਲ ਿਵੱਚ ਵੱਖ-ਵੱਖ ਭਾ©ਾਵ� ਬਲੋਣ 

ਵਾਲੇ ਿਵਿਦਆਰਥੀਆ ਂ ਦੀ ਸੰਿਖਆ ਹੇਠ� ਿਦੱਤੀ 

ਗਈ ਹ[ੈਜੇਕਰ ਇਸ ਅੰਕਿੜਆ ਂ ਨੰੂ ਇੱਕ ਗੋਲ 



 
 

is the difference between the central 
angles for English and Bengali. 
 
 

Language (Number of 
Students) 

(Hindi) 40 

(English) 12 

(Marathi) 9 

    (Tamil) 8 

(Bengali) 3 

(Total) 72 

 
1) 600   2) 900   
3) 450   4) 90 

 

ਨਕਸ਼ੇ ਦੁਆਰਾ ਦਰਸਾਇਆ ਜਾਵੇ ਤ� ਅੰਗਰੇਜ਼ੀ 

ਅਤੇ ਬੰਗਾਲੀ ਭਾਸ਼ਾਵ� ਲਈ  ਬਣੇ ਕ�ਦਰੀ ਕੋਣ� 

ਿਵਚਕਾਰ ਅੰਤਰ ਹੋਵੇਗਾ : 

ਭਾਸ਼ਾ ਿਵਿਦਆਰਥੀਆਂ 

ਦੀ ਸੰਿਖਆ 

ਿਹੰਦੀ 40 

ਅੰਗਰੇਜ਼ੀ 12 

ਮਰਾਠੀ 9 

ਤਾਿਮਲ 8 

ਬੰਗਾਲੀ 3 

ਕਲੁ 72 

 
1) 600  2) 900    
3) 450  4) 90 

48  If the length of cube is doubled then 
the ratio of volume of new cube and 
original cube is:    
1) 1:2   2) 2:1   

3) 4:1   4)8:1 

48 jykr iksy Gx dI Bujw dI lMbweI du~gxI ho 
jwvy qW nvyN Gx Aqy purwxy Gx dy Awieqn 
dw Anupwq hY:   
1) 1:2   2) 2:1   

3) 4:1   4)8:1 

49  When a dice is thrown once, then 

what is the probability of getting a 

multiple of three? 

1)1/2         2)1/3    
3)  1/6  4)   5/6 
 

49 ਜਦ� ਇੱਕ ਪਾਸ ੇਨੰੂ ਇੱਕ ਵਾਰ ਸੁੱ ਿਟਆ ਜ�ਦਾ ਹ ੈਤ� 

ਿਤੰਨ ਦ ੇਗੁਣਜ ਸੰਿਖਆ ਦ ੇਪ�ਾਪਤ ਹੋਣ ਦੀ ਕੀ 

ਸੰਭਾਵਨਾ ਹ?ੈ  

1)1/2         2)1/3    
3)  1/6  4)   5/6 
 

50  Read the following bar graph of a 
particular class of a school and tell 
during which two years the number 
of students doubled? 
 
 

50 ਿਕਸੇ ਸਕੂਲ ਦੀ ਇੱਕ ਿਵਸ਼ਸੇ ਜਮਾਤ ਦੇ ਹੇਠ ਿਲਖੇ 

ਛੜ ਗ�ਾਫ਼ ਨੰੂ ਪੜ�ਕ ੇਦੱਸੋ ਿਕ ਿਕਹੜੇ ਦ ੋਸਾਲ� ਦੇ 

dOrwn ਿਵਿਦਆਰਥੀਆ ਂਦੀ ਸੰਿਖਆ ਦੁੱ ਗਣੀ ਹੋਈ? 

 



 
 

 

 

 
 
 
 

 
 
 
 
 
 
 
1) From year 2000 to 2002 

2) From year 2001 to 2002 

3) From year 2001 to 2003 

4) From year 2000 to 2003 

 

 

 
 
 

 
 
 
 
 
 
 
1) ਸਾਲ 2000 ਤ�  ਸਾਲ 2002 ਿਵੱਚ  

2)ਸਾਲ 2001 ਤ�  ਸਾਲ 2002 ਿਵੱਚ  

3) ਸਾਲ 2001 ਤ�  ਸਾਲ 2003 ਿਵੱਚ  

4) ਸਾਲ 2000 ਤ�  ਸਾਲ 2003 ਿਵੱਚ  

51 Numbers 1 to 10 are written on different 
slips (One number on each slip). These 
slips are put in a box and mixed well. A 
slip is pulled out of the box randomly. 
What is the probability of getting a 
number less than 6? 
1)  1/10     2) 1/6    3)    6/6    4) 6/10  
 
 
 
 

51 ਵੱਖ-ਵੱਖ ਪਰਚੀਆ‘ਂ ਤ1ੇ ਤ�10 ਤੱਕ ਸੰਿਖਆਵਾ 

ਿਲਖੀਆਂ ਹੋਈਆਂ ਹਨ( ਇੱਕ ਪਰਚੀ ਤੇ ਇੱਕ ਸੰਿਖਆ) 

ਇਹਨ� ਪਰਚੀਆ ਂਨੰੂ ਇੱਕ ਬਕਸ ੇਿਵੱਚ ਰੱਖਕ ੇਚੰਗੀ 

ਤਰ�� ਿਮਲਾ ਿਦੱਤਾ ਜ�ਦਾ ਹੈ।ਬਕਸ ੇਿਵੱਚ� ਿਬਨ� ਦੇਖ ੇ

ਇੱਕ ਪਰਚੀ ਕੱਢੀ ਜ�ਦੀ ਹੈ। (6 ਤ� ਛੋਟੀ ਇੱਕ ਸੰਿਖਆ 

ਪ�ਾਪਤ ਕਰਨ ਦੀ ਕੀ ਸੰਭਾਵਨਾ ਹ)ੈ 

1)  1/10     2) 1/6    3)    6/6    4) 6/10  

52 Vikas had bought two tables of Rs.1200 
each. He earned 5% profit on one table 
and 10% profit on the second table. 
Find his total gain? 
1) Rs. 120        2) Rs. 180   
3) Rs. 240     4) Rs. 200 

52 ivkws ny 2 myz 1200 ru. pRqI myz dI dr 
nwl KrIdy[ ausny ie`k myz 5% lwB qy 
Aqy dUjw myz 10% lwB qy vyicAw[kul̀ lwB 
pqw kro[ 
1) Rs. 120  2) Rs. 180  
3) Rs. 240  4) Rs. 200 

53  If x-coordinates of a point is zero, then 
this point always lies : 
1) in 1st quadrant    2) in2nd quadrant 
3) on x-axis        4) on y-axis 

53 jykr ie`k ibMdU dw x inrdyS AMk isPr 
hovy qW auh ibMdU hmySw siQq hovygw: 
1) pihlI cOQweI ivc̀ 2) dUjI cOQweI iv`c  
3) x-Dury qy   4) y-Dury qy  

54 A bought a tape recorder for Rs. 
8000 and sold it to B. B in turn sold 
it to C,each earning a profit of 20%. 
Which of the following is true? 

54 A ਨĂ  ਇੱਕ ਟੇਪ ਿਰਕਾਰਡਰ ਨੰੂ 8000 ਰੁਪਏ 

ਿਵੱਚ ਖਰੀਿਦਆ ਅਤੇ B ਨੰੂ ਵੇਚ ਿਦੱਤਾ[ਿਫਰ B ny 
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1) A and B earn the same profit (in 
rupees) 
2) A earns more profit (in rupees) 
than B.  
3) A earns less profit (in rupees) 
than B.  
4) Cannot be determined  . 
 
 
 

ies nUM C nMU ਵੇਚ ਿਦੱਤਾ ਹਰ ਇੱਕ ਨੰੂ 20%ਦਾ 

ਮੁਨਾਫਾ ਹੋਇਆ।ਹੇਠ ਿਲਿਖਆ ਂਿਵੱਚ� ਿਕਹੜਾ ਸੱਚ 

ਹ?ੈ 

1)Aਅਤ ੇ B ਬਰਾਬਰ ਲਾਭ (rupey ivc̀) 

ਕਮਾ�ਦੇ ਹਨ [ 

2)A,B ਨਾਲ� ਵਧਰੇ ੇ ਮਨੁਾਫਾ (rupey iv`c) 

ਕਮਾ�ਦਾ ਹ ੈ[ 

3) A, B ਤ� ਘੱਟ ਲਾਭ(rupey iv`c) ਕਮਾ�ਦਾ ਹ ੈ 

4) ਿਨਰਧਾਰਤ ਨਹ� ਕੀਤਾ ਜਾ ਸਕਦਾ [ 
 

55 The given pie chart gives the marks 
scored 
in an examination by a student in Hindi, 
English, Mathematics, Social science 
and Science. 
If the total marks obtained by the 
student were 540, then how many 
more marks were obtained by the 
student in Mathematics than in Hindi? 
 
 
 
 
 
 
 
 
 
 

1) 15  2) 20   
3)  25  4) 30 

55 id`qw igAw pweI cwrt (gol nkSw) ie`k 
ividAwrQI duAwrw iksy pRIiKAw iv`c 
ihMdI,  
AMgryzI, gixq, smwijk ivigAwn Aqy 
ivigAwn iv`c pRwpq kIqy gey AMkW nUM 
drswauNdw hY[ 
jy aus ividAwrQI duAwrw pRwpq kIqy gey 
ku`l AMk 540 hn, qW  aus ividAwrQI ny 
gixq iv`c ihMdI nwloN ikMny AMk vD̀ pRwpq 
kIqy ?  

 
 
 
 
 
 
 
 

 
1) 15  2) 20   
3) 25  4) 30 

56 Find the height of cylinder whose 
radius is 7cm and the total surface area 
is 968 cm2 

1)    15  cm  2) 6  cm  
3)     14  cm  4)  8  cm 

56 ie`k ies qrHW dy vylx dI aucweI pqw kro 
ijsdw ArDivAws 7 sm Aqy ku`l sqHw dw 
KyqrPl 968  vrg sm hY[ 

1) 15 sm      2) 6 sm  
3) 14 sm         4)  8 sm  



 
 

57 Find the value of  
    1) ½                2) 1/4        
   3)  2/3             4) 1   
 

57 27) mu`l pqw kro:  
 1) ½                  2) 1/4          
 3)  2/3               4) 1 

58 Length and breadth of a rectangle are 
units and  

unitsrespectively.  Perimeter of this 
rectangle    will be:  

(1) -25) units   
(2)  units 
(3)  units   
(4)  units 

58 ie`k Awieq dI lMbweI Aqy cOVweI kRmvwr 
iekweIAW Aqy 

iekweIAW hY[ies Awieq dw pirmwp 
pqw kro: 

(1) -25) iekweIAW    
(2) iekweIAW  
(3) iekweIAW   
(4) iekweIAW  

59  A  biscuits selling company uses two 
cuboidal boxes with different 
dimensions. Dimensions     of  Box A  
are  3cm× 8 cm× 20 cmand box B 
are 4 cm× 12 cm× 10 cm. Find in 
which box more biscuits can be 
packed? 

     1)  (Box A)     
     2)  (Box B)      
     3) Both Boxes have same  capacity 
   4) Can not be determined 

59 29) ie`k ibskut vycx vwlI kMpnI ibskut 
pYk krn leI do v`K-v`K ivmwvW vwly 
Gxwvkwr f̀ibAW A Aqy B dI vrqoN 
krdI hY[f`by A dw mwp 3 sm × 8  sm 
× 20 sm hY Aqy f̀by B dw mwp 4 sm × 
12 sm × 10 sm hY[ d`so ikhVw f`by 
iv`c izAwdw ibskut pYk ho skdy hn?  

     1) f`bw A (Box A)     
     2) f`bw B (Box B)      
     3) dovy bkisAW dI smrQw brwbr hY 
   4) pqw nhIN kIqw jw skdw 

60 Two numbers are respectively 30%  and 
40%  less than a number. Find that 
what per cent of second number 
less than first one.  

1) 35%         2) 36 %            

3) 14%  4) 14 % 

60 do sMiKAwvW ie`k sMiKAw qoN kRmvwr 30% 
Aqy 40%  G̀t hn[ pqw kro dUjI 
sMiKAw pihlI sMiKAw qoN ikMny % G̀t 
hY.  

1) 35%         2) 36 %             

3) 14%  4) 14 % 

 
61  The technique used to separate seeds 

from crop is known as: 
1)  Tilling             2) Sowing             3) 
Irrigation       4) Threshing  

61 Psl qoN bIj v`K krn dI ikirAw nMU kI kihMdy 
hn ? 

1) gofI krnw       2) ibjweI        
3) isMcweI         4) ghweI 

62 . Suraj got infected from cold three days 
ago and now Abhay also got infected 
today. Their teacher told them that there 
are some communicable diseases which 
get transmitted from infected person to 
healthy person. Which one of the 
following is not a communicable 
disease? 

62  ਸਰੂਜ ਨੰੂ ਿਤੰਨ ਿਦਨ� ਤੋ ਬਖੁਾਰ ਿਸ ਅਤੇ ਅੱਜ ਅਬ ੇਨੰੂ 

ਿਵ ਬਖੁਾਰ ਹੇ ਿਗਆ ਹ।ੈ ਅਿਧਆਪਕ ਨਨĂ  ਉਹਨ� ਨੂੰ  

ਕਝੁ ਿਬਮਾਰੀਆ ਬਾਰੇ ਦੱਿਸਆ ਜ ੇਿਬਮਾਰ ਇਨਸਾਨ ਤzੇ 

ਿਸਹਤਮੰਦ ਇਨਸਾਨ ਤੱਕ ਫਲੈਦੀਆ ਹਨ। ਹਠੇ 

ਿਲਿਖਆ ਿਵੱਚੋ ਿਕਹੜੀ ਿਬਮਾਰੀ ਫੈਲ�ਂਯੋਗ ਨਹੀ ਹੈ।    



 
 

1) Cholera       2) Common cold       
 3) T.B.             4)Goitre 

1) ਹਜੈਾ            2) ਜੁਕਾਮ    

 3)  ਟੀ.ਬੀ       4) ਿਗਲੱੜ  

63 Frictional Force is produced because 
of _________? 
1. Irregularities in two contacting 
surfaces.  
2. To stop moving object 
3. To make an object move easily  
4. None 
 

63  rgV bl ikauN pYdw hu Mdw hY? 
(1) sMprk ivc̀ Awaux vwlIAW dosqHwvW   
dIAW AinXmqwvW kwrn 
(2) gqISIl vsqU ਨੰੂ rokx leI 

(3) vsqU dI gqI ਨੰੂ Awswn krn leI  

(4) iehnW iv`coN ਕੋeI nhIN 

64 . Doctor placed a thermometer in 
Neha’s mouth beneath the tongue to 
check the fever. Neha inquired from 
the Doctor about the shiny liquid 
present in the thermometer. The 
doctor told that the liquid was a metal. 
Can you tell the name of this metal? 
1) Gold                     2) Silver                          
3) Mercury              4) Sodium 

64  buKwr dOrwn fwktrnyjdoN QrmwmItr nyhw 
dy mMUh iv`c pwieAw qW nyhw ny pu~iCAw ik 
ies iv`c cmkIlw dRv ikhVw hY qW fwktr 
n yd`isAw ik ieh dRv ie~k DwqhY[ kI qusIN 
d`s skdy ho ik ieh ikhVI Dwq ho skdI 
hY? 

1)sonw              2) cWdI            
3) pwrw            4) sofIAm 

65 Soles of our shoes wear out because 
of ________? 
A. Running B. Slow moving  
C. Friction D. None 

65  j`qIAW dy qly ikauN Gs jWdy hn? 
(a) qyj cl̀x kwrn (A) hOlI cl̀x kwrn 
 (e) rgV kwrn   (s) k oeI nhIN 

66  Out of below given options which is 
the use of magnetic effect of current? 
1) Electroplating     2) Electric Iron  

3) Electric Bulb    4) Electric Bell 

66 hyT iliKAW ivcoN ikhVw ibjleI Dwrw dy 
ਚੁੰ ubkI pRBwv dw aupXog hY? 

(1) ibjleI mulMmwkrn  (2) ibjleI pR Ys  

(3) ibjleI blb       (4) ibjleI GMtI 

67 Among the substances given below 
which is not a good conductor of 
electricity? 

a) Aluminum b) Mercury  
c) Graphite d) Distilled water 

67 hyT ilKy pdwrQW iv`c ikhVw ibjlI dw 
sucwlk nhIN hY? 

(1) AYlmIinAm      (2) pwrw 

(3) gryPweIt         (4) kSIdq pwxI 

68 North pole of a bar magnet repels the 
north pole of another bar magnet. 
The force acting is ........ 

(1) Non contact force 

(2) Contact force 

(3) Gravitational force  

(4) Muscular force 

68 ie`k CV ਚੰੁ Mbk dw au~qrI Druv dUਜੇ CV  

 ਚੁੰ Mbk dy au~qrI Druv ਨੰੂ ApkriSq krdw 

hY[ ieh ............. bl dI audwhrn hY[ 
(1) AsMprk bl      (2) sMprk bl 

 (3) gurUqw AwkrSx bl  (4) pySI bl 



 
 

 
69  An embryo develops in which part in 

human female reproductive system? 
1) Ovary         2) Fallopian tube         
3) Uterus         4) Stomach 

69 .  mnu~KI mwdw dy iks jnx AMg iv~c BrUx 
Tihrdw hY? 
1) AMfkoS 2) AMf inkws vihxI  
3) b`cydwnI 4) imhdw 

70 Ramesh has goitre. The doctor 
adviced him to add ………….. 
nutrient in his diet? 
1) Iron              2) Vitamin            3) 
Iodine          4) Proteins 
 

70  rmyS nUM ig~lHV rog ho igAw hY[ fwktr 
ny ausnUM Bojn iv~c, iks q~q dI vDyry 
mwqrw lYx dI slwh id~qI hovygI ? 
 1) lohy dI  2) ivtwimn dI   
3) AwieaufIn dI  4) pRotIn dI 

71 Name a metal that is so soft that it can be 
cut with knife and also it is so reactive 
that it can not be placed in open air. 
a) Phosphorus b) Iron  
c) Potassium d) Aluminium 

71 ie`k AijhI Dwq ijhVI ieMnI nrm hY ik 
cwk nwl kitAw jw skdw hY ieMnI 
ikirAwSIl hY ik ਇਸਨੰੂ Kuਲੀ hvw ivc̀ 

nhIN r`iKAw jw skdw aus Dwq dw nwm 
d`so ? 
(1) PwsPors (2) lohw (3) potwSIAm (4) 
AYlUmInIAm  

72 While starting T.V., Ajay noticed that 
hairs from his arm get attracted 
towards the T.V screen, producing a 
low crackling sound. Why this 
happened? 
1) Due to production of current from 
the screen. 
2) Due to hairs of the arm. 
3) Due to Contact forces 
4) Due to non-contact electro-static 
attractions. 

72  AjY ny jdoN tI.vI. cwlU kIqw qW glqI 
nwl aus dI bWh tI.vI. dI skrIn nwl 
l~g geI[ aus ny vyiKAw ik tI.vI. dI 
skrIn ny ausdI bWh dy vwl iK~c ley 
Aqy ie~k hlkI ijhI Awvwz AweI[ 
Aijhw ikauN hoieAw ? 
1) skrIn qoN krMt kwrn[ 
2) bWh dy vwlW kwrn[ 
3) sMprk bl krky[ 
4) AsMprk siQr ibjleI bl krky[ 

73   Lubricants……………… 
1) Increase friction.       
2) Decrease friction 
3) Both a and b            
 4) None of the above 

73  snyhk (Lubricants) ..... 
1) rgV nUM vDwauNdy hn[ 
2) rgV nUM GtwauNdy hn[ 
3) a Aqy A dovyN 

  4) auprokq ivcoN koeI nhIN 
74  which one out of the following 

produces only noise? 
1) Jet Engine      2)Harmonium          
3) Flute                 4) Guitar 

74 hyTW iliKAW iv~coN ikhVW isrP Sor pYdw 
krdw hY? 
1)jYt ieMjn       2) hwrmonIAm       
3)PlUt            4) gItwr 

75 . While praising new bicycle of 
Rambir, Rajdeep said that handle od 
the bicycle was too shiny. Rambir 

75 rwjdIp ny rwmbIr dy nvyN sweIkl dI 
pRSMsw kridAw ikhw ik sweIkl dw 



 
 

said that its handle does not even 
corrode. What accordind to you, 
Handle of the bicycle is electroplated 
with which material? 
1) Chromium        2) Copper                
3) Iron                 4) Zinc 

hYNfl bhuq cmkdwr hY[ rwmbIr ny ikhw 
ik iesdy hYNfl nUM jMg vI nhIN lgdw[ 
quhwfy Anuswr sweIkl dy hYNfl qy iks 
pdwrQ dw mulMmw kIqw igAw hY? 

1)kromIAm     2) qWbw  
3) lohw       4) ijsq 

76 A powerful earthquake caused huge 
damage in Nepal few years ago. 
Intensity of that earthquake measured 
was 7.8 on _______. 
1) pH scale                                          
2) Richter scale                                                                        
3) Fahrenheit scale                             
4) Measuring cylinder 

76 kuJ swl pihlW nypwl iv~c SkqISwlI 
BUcwl ny bhuq qbwhI mcweI [ijs dI 
qIbrqw ------ pYmwny qy 7.8 mwpI geI  

1) pHskyl  2) irktr skyl   

3) PwrnhIt skyl  4) mwpk islMfr 

77  Name the phenomenon when light 
bounces back after striking on the 
surface of mirror. 
1) Refraction of light         
2) Reflection of light         
3) Scattering of light     4) None  
 

77 pRkwS dy iksy drpx dI sqw nwl tkrw 
ky vwps muVn dI ikirAw nUM kI kihMdy 
hn? 
1)pRkwS dw Apvrqn  
2) pRkwS dw prwvrqn   
3) pRkwS dw iKMfxw  4) koeI nhIN 

78 In which one of the following devices, 
concept  of multiple reflection is 
applicable? 
1) Microscope        2) Telescope          
3) Kaleidoscope    4) All of above 

78 iks XMqr iv~c bhuprwvrqn (Multiple 
Reflection) dI vrqoN kIqI jWdI hY? 

1) mweIkRoskop     2) dUrbIn  
3) klIfIEskop  4) auprokq swry  

79 Which of the following is used as 
antibiotic medicine? 

1) Sodium Bicarbonate 

2)Streptomycin 

 3) Alcohol          4) Yeast  

79 hyT iliKAW iv`coN ikhVI pRqIjYivk dvweI 
hY? 
(1) sofIAm bweIkwrbonyt  

(2) strYptmweIsIn  

(3) ਅਲਕੋhl         (4) KmIr  

80 Who discovered the vaccination for 
prevention of small pox? 

1) Louis Pasteur  

2) Alexander Fleming 

 3) Edward Jenner   4) Robert Koch  

80  cyck dI rokQwm leI tIky dI Koz iks 
ny kIqI? 

(1) lUeIs pwscr      

 (2) AlYNgਜ�fr PlYimMg 

 (3) AYfvrf jInr    (4) rwbrt ਕਚੋ  
81 Green colour of leaves is due to the 

presence of pigment _________ 
 

81    ਪੱ~iqAW dw hrw rMg iks vrxk 

kwrx hu Mdw hY? 



 
 

(1) Chlorophyll (2) Mitochondria  

(3) Ribosomes (4) Chloroplast  

1) kloroiPl       2) mweItokWfRIAW  

  3) rweIbosom     4) kloroplwst  

82  Which of the following statement is 
correct regarding cone cells and rod 
cells present in the retina of human 
eye? 
1) Cone cells are sensitive to dim 
light and rod cells are sensitive to 
bright light. 
2) Cones and rods both are sensitive 
to bright light. 
3) Cones and rods both are sensitive 
to dim light. 
4) Cone cells are sensitive to bright 
light and rods are sensitive to dim 
light 

82 A~K dy rYtInw iv~c mojUd kon sYlW Aqy 
rof   sYlW dy sbMD iv~c ikhVw kQn shI 
hY? 
1)kon sYl m~Dm pRkwS leI Aqy rof sYl 
qyj pRkwS leI sMvyNdnSIl huMdy hn[ 
2)kon sYl Aqy rof sYl dono qyz pRkwS 
leI   sMvyNdnSIL huMdy hn[ 
3)kon sYl Aqy rof sYl dono m~Dm pRkwS 
leI sMvyNdnSIL huMdy hn[ 
4) kon sYl qyz pRkwS leI Aqy rof sYl 
m~Dm pRkwS leI sMvyNdnSIl huMdy hn 

83 Harmeet rubbed the plastic scale with 
Jasmeet’s hair while playing with her. 
Plastic scale ________ small pieces 
of paper. 
1) Attracts             2) Repels              
3) has no effect         4) both a and b 
 

83 Kyf Kyf iv~c hrmIq ny jsmIq dy su~ky 
vwlW nUM plwsitk dy skyl nwl rgiVAw[ 
rgVx auprMq plwsitk dw pYmwnw kwgz 
dy Coty Coty tukiVAW nUM Awpxy v~l ---- 
1)AwkriSq krygw  2) ApkriSq krygw  
3) koeI Prk nhIN pvygw 4) a Aqy A 
dovyN 

84  Rajinder inserted an electric tester 
into water. He noticed that bulb of the 
tester does not glow. What could be 
the most probable reason? 
1) Water was impure.                   
 2) Water was Salty      

 3) Water was distilled                   
 4) Water was chilled 

84 rwijMdr ny tYstr nUM pwxI iv~c fubo ky 
r~iKAw[ ausny vyiKAw ik tYstr dw 
b~lb nhIN jigAw[auicq kwrn suJwE?  

1)pwxI gMDlw sI      2) pwxI nmkIn sI  

3) pwxI kSIdq sI    4) pwxI TMfw sI 

 
85  How many times per second a 

vibrating body shall oscillate so that 
we may hear its sound? 
1) 5 times/sec        
 2) 10 times/sec         
3) 15 times/sec         
 4) 20 times/sec 

85 iek kMpn krdI hoeI vsqU G~tO-G~t 
ikMNnI vwrI pRqI sikMt kMpn krnI 
cwhIdI hY ik ausdI swnUM ausdI Avwz 
sunweI dyvy ? 
1) 05 vwr         2) 10 vwr        
3) 15 vwr           4) 20 vwr 

86 Kulveer told Amir that cells can only 
be seen with the help of Microscope 
and not with naked eye. Amir was not 
completely satisfied with his view. 

86  kulvIr ny AmIr nMU d`isAw ik sYlW nMU 
kyvl sUKmdrSI nwl hI vyiKAw jw skdw 
hY, nMgI A~K nwl nhIN[ pr AmIr ausdy 



 
 

What example Amir must have in 
mind to justify his view? 
1) Nerve Cell             
2) Epithelial cell of cheek        
3) Amoeba        4) Ostrich egg 
 

ies kQn nwl sihmq nhIN sI[ AmIr 
vl̀oN Awpxy jvwb dI puStI leI iks sYl 
dI audwhrx id`qI ho skdI hY? 
1) nwVI sYl dI  
(2) g`lH dy AYpIQIAl sYl dI  

3) AmIbw dI    4) Suqrmurg dy AMfy dI 
87 A sperm consists of----------------- 

parts. 

1)One       (2) Two 

3) Three     (4) Four  

87 . SukrwxU dy ............ Bwg hu Mdy hn[ 
(1) ie~k (2) do  

(3) iqMn (4) cwr  

88 Which of the following shows 
budding? 
(1) Yeast          (2) Amoeba  

(3) Paramecium    (4) Plasmodium  

88 hyT iliKAW iv~co iks iv~c bifMg hu MdI 
hY? 

(1) XIst            (2) AmIbw  

(3) pYrwmISIAm    (4) plwzmofIAm  
89 Pooja saw an element dipped in 

kerosene oil in the laboratory and 
asked her teacher about it. The 
teacher asked that it is a metal. 
Which metal is stored under 
kerosene? 
1) Iron                     2) Silver                     
3) Sodium              4) Copper 
 

89 pRXogSwlw ivc̀ pey ie`k q~q nUM im̀tI dy 
qyl ivc̀ vyKky pUjw ny mwstr jI nUM 
puiCAw ik ieh ਿਕਹੜਾ pdwrQ hY qW 
mwstr jI ny d`isAw ik ieh ie`k Dwq 
hY[hyT iliKAW ivcoN ikhVI Dwq nUM im~tI 
dy qyl iv~c fubo ky r~iKAw jWdw hY? 
1) lohw                 2) cWdI           
2)  sofIAm            4) kw`pr 

90 Why talcum powder is spread on the 
carrom board? 

1. To reduce friction 

2. To make the surface of carrom 

board smooth 

3. To make the carrom coins (goti)   

move longer distance 

4. All of the above. 

90 kYrm borf au~qy pwaUfr ikauN iCVikAw 
jWdw hY? 
(1) rgV bl G`t krn leI  

(2) borf dI sqHw ਨੰੂM mulwiem bxwaux 
leI 
(3) gotIAW ਨੰੂ AwswnI nwl v~D dUrI q`k 
srkx dy Xog bxwaux leI    
 (4) auprokq ਸਾਰੇ। 

91  What types of resources are animals and 
plants? 
(1)Biotic Resources  2) Abiotic Resources  

3) Developed Resources 

 4) Mineral Resources 

91 jIv jMqU Aqy pOdy ikhVy swDn AKvwauNdy 
hn? 
 (1) jIv swDn      (2)inrjIv swDn 
(3) ivksq swDn   (4)Kixj swDn 



 
 

92  How much area of Red Soil is found in 
our country? 
(1)10.4% 2) 10.6%  

(3) 12.6% (4) 12.8% 

92  lwl im`tI dyS dy rkby dy ikMnHy ih`sy iv`c 
imldI hY? 

(1)10.4%        (2)10.6%  
(3)12.6%        (4)12.8% 

93 Throughout the world what percentage 
of hydroelectricity is produced by India? 

1) 8% (2) 4 %  

(3) 1%  (4) 3% 

93 Bwrq pUry sMswr dI ikMnyH % px ibjlI 
pYdw kr irhw hY? 
  (1)8% (2)4 %  
  (3)1%  (4)3% 

94 .Which country alone grows 50% of 
maize of the entire world? 
(1)U.S.A.  2) India  

3) Brazil     4) Argentina 

94  ikhVw dyS iekl̀w hI sMswr dI lgpg 
50% m̀kI pYdw krdw hY? 
(1)XU. AYs. ey.    (2) Bwrq  

(3  (3)bRwzIl    (4) ArjntInw 

95  For how long does a coffee plant bear 
fruit? 
(1)30 Years 2) 50 Years 

 3) 60 Years 4) 70 Years 

95  kOPI dy pOdy ikMnyH swl qk̀ &l idMdy hn? 
(1)30 swl        (2)50 swl   

   (3) 60 swl     (4)40 swl 
 

96 At what speed does the cyclone become 
a disaster? 
(1)More than 30km per hour 
2) More than 40km per hour 

3) More than 100km per hour 

4) More than 50km per hour 

96  c`krvwqW dI r&qwr ikMnHy iklomItr pRqI 
GMtw qoN v`D jWdI hY qW ieh Aw&q dw rUp 
Dwr lYNdy hn? 
(1)30 ik:mI pRqI GMty qoN v`D          
(2)40 ik:mI pRqI GMty qoN v`D 
(3)100 ik:mI pRqI GMty qoN v`D          
(4)50 ik:mI pRqI GMty qoN v`D 

97 .How many types are there of 
Volcanoes? 
(1)5     2) 4 3) 2  4)  3 

97 jvwlw muKI m̀uK qOr qy ikMnyH qrW dy huMdy 
hn? 

(1)5  (2)4   (3)2     (4)3 

98  Name the resources, which get renewed 
as we use them? 
1)Developed Resources 
2) Inexhaustible Resources 

3) Exhaustible Resources 

4) Human Resources  

98  auh swDn ijMnHw dI vrqoN dy nwl nwl 
auh nivAwey jw rhy hn kI khWauNdy hn? 
(1)ivksq swDn   
(2)nw muk̀x Xog swDn 
(3)m`ukx Xog swDn    
(4) mn`uKI swDn 
 

99 .What is the heat of the air is called? 
  (1)Smoke       2) Humidity 

  3) Temperature   4) None of these 

99 hvw ivclI grmI nUM hyT iliKAW ivc̀oN kI 
ikhw jwNdw hY? 
 (1)DUAW   (2)nmI  



 
 

 (3)qwpmwn  (4)iehnW iv`coN koeI nhIN  
100  What do we get from mountains? 

(1)Wood and Herbs   

2) Different types of minerals 

3) Natural beauty for Tourists 

4) All of the above 

100 prbqW qoN swnMU kI kuJ̀ pRwpq huMdw hY? 

(1)l`kVI Aqy jVI bUtIAW    

(2)Anyk pRkwr dy Kixj  

(3)sYlwnIAW leI kudrqI sMudrqw    

(4)aukq swry  

101 Name the smallest ocean of the World? 
1)Indian Ocean 2) The Atlantic Ocean 

3) The Pacific Ocean 4) The Artic Ocean 

101  hyT iliKAW iv`coN sB qoN Cotw mhWswgr 
ikhVw hY? 
1)ihMd mhWswgr  2)SWq mhWswgr 

3)AMD mhWswgr   (4)Awrkitk mhWswgr  
102  How many Carnatic Wars are fought 

between the British and French from 
1744 to 1763? 

(1)Two    2) Three     3) Four 4) Five                                                 

102  AMgryzW Aqy PrWsIsIAW ivckwr 1744 
eI. qoN 1763 eI. q`k ikMnHy kwrnwitk  Xu`D 
hoey? 
(1) do   (2)iqMn    (3)cwr (4)pMj 

103  In the beginning what was the aim of 
British when they come to India? 
(1)To give Education  
2) To promote their Religion 
3) To Trade 4) To invade India 

103 AwrMB iv`c AMgryz Bwrq iv`c kI krn 
Awey ? 
(1)is`iKAw dyx     (2)Drm pRcwr krn  
(3)vpwr krn   
(4)Bwrq au`qy kbzw krn 

104  According to Which system Landlords 
were made the owners of the land? 

(1) ijaredari System  
2) Permanent Settlement system 
3) Rayatwari System  
4) Mahalwari System  

104  iks pRbMD Anuswr ijmIdwrW nUM BUmI dw  
mwlk bxw id`qw[ 
(1) iezwrydwrI      (2)sQweI bMdobsq  
(3)r`eIAqvwVI pRbMD (4)mihlvwVI pRbMD 

 

105 Whom was the Battle of Plassey fought 
between? 

(1)Siraj-ud-Daulah and Robert Clive 
(2) Robert Clive and Mir Qasim 
(3)  Siraj-ud-Daulah and Mir Qasim 

(4) Robert Clive and Mir Jaffer        

105  plwsI dI lVweI iks iks ivckwr 
hoeI? 
(1)isrwz aud dOlw Aqy rwbrt klweIv  
(2)rwbrt klwiev Aqy mIr kwism 

(3)isrwz aud dOlw Aqy mIr kwism      
(4)rwbrt klwiev Aqy mIr zwPr  

106 What was the main objective of revolt 
that started in 1900 in Ranchi? 
(1)To throw tribal people out of the area 
(2) To get land for growing indigo 

106  1900 eI. iv`c rwNcI dy d`KxI ielwky iv`c hoey 
ivdroh dw mu`K audyS kI sI? 
(1)dUsirAW kbIilAW dy lokwN nUM k`Fxw     
(2)nIl dI KyqI leI zmIn hwisl krnw  



 
 

(3) To throw the Britishers out of the 

area  
(4) To make treaty with Britishers 

(3)AMgryzW nUM ielwky ivc̀oN bwhr k`Fxw    
(4)AMgryzW nwl sMDI krnw 

 

107  Who stopped Nana Sahib’s pension? 
 

(1)Lord William 2) Lord Dalhousie
  
(3) Lord Carnwalies 4) None of these 

107  nwnw sihb dy auu`qrwiDkwrI bxn ‘qy 
iks ny auhnW dI pYnSn bMd kr id`qI? 
(1) lwrf ivlIAm     (2)lwrf flhOzI 
(3)lwrf kwrnvwils    (4)iehnW ivc̀oN 
koeI nhIN  

108 From where did the revolt of 1857 
started? 
(1)Kanpur           2) Kolkata  

3)     3) Punjab               4) Barrakpur 

  1857 eI.  dw ivdroh ikQ̀oN SurU hoieAw? 
(1) kwnHpur    (2)klk`qw  
(3)pMjwb      (4)bYrkpur  

109 Which system Raja Ram Mohan Roy 
propagate to stop? 

(1)Dowry System  2) Sati System  
3) Divorce System   4) Parda System 

108  rwjw rwm mohn rwey ny iks pRQw nUM Kqm 
krn leI pRcwr kIqw[ 

(1) dhyj pRQw   (2)sqI pRQw  
(3)qlwk pRQw   (4)prdw pRQw 

110  In which year Inter caste marriage was 
allowed by the Govt. 
(1)1880 A.D 2) 1872 A.D  
3) 1855A.D                4) 1891 A.D 
 

109  AMqr jwqI ivAwh krvwaux dI pRvwngI 
srkwr vl̀oN kwnMUn pws krky kdoN id`qI 
geI? 
(1) 1880 eI.       (2)1872 eI .  
(3)1855 eI.       (4)1891 eI. 

111  What is the present name of Madras? 
(1)Kolkata 2) Chennai     
3)Mumbai      4) Maharashtra 

110  mdrws dw vrqmwn nW ikhVw hY? 
1) kolkwqw        2) cynèI  

(3    3)muMbeI           4) mhwrwStr 
112  By whom ‘Delhi Chalo’, ‘Give me blood, I 

shall give freedom’ and ‘Jai Hind’ slogans 
are given? 
(1)Mahatma Gandhi  
2) Subash Chander Bose  
3) Bhagat Singh 4) Rajguru   

111  ‘id`lI clo’, ‘qusIN mYnMU KUn idau, mYN 
quhwnMU AwzwdI dyvWgw’ Aqy ‘jY ihMd’ 
nwAry iks duAwrw lwey gey[ 
(1) mhwqmw gWDI    
(2) suBwS cMdr bos 
(3)Bgq isMG   (4)rwjgurU 

113  When did India become completely 
Independent, sovereign, democratic 
republic? 

(1) 26 January 1930 
(2) 26 January 1940   
(3) 26 January 1950   
(4) 26 January 1960 

112 Bwrq kdNo pUrn rUp ivc̀ pRBUsqw sMpMn 
lokqMqrI gxrwj bx igAw? 

(1)  26 jnvrI 1930 
 (2) 26 jnvrI 1940    
(3)  26 jnvrI 1950 
 (4) 26 jnvrI 1960 

114  Which age group is provided free and 
compulsory education for all children? 
1)11-14   (2) 6-15   

113  muPq Aqy lwzmI m`uFlI is`iKAw iks  
aumr  grup̀ dy bìcAW nUM id`qI jWdI hY? 
  (1) 11-14   (2)6-15   



 
 

3) 6-13              (4) 6-14   (3) 6-13   (4)6-14 
115  Who was the first president of India? 

(1)Dr. Rajinder Prasad  
(2) Pt. Jawaharlal Nehru 
(3)  Ram Nath Kovind   
(4) Pranab Mukherjee 

114  Bwrq dy pihly rwStrpqI kOx sn? 
 (1)   fw: rijMdr pRSwd     

(2)     2)pMifq jvwhrlwl nihrU    
(3)  sRI rwmnwQ koivMd   
(4)  pRwxb muKrjI 

116 How many Houses are there in 
Parliament? 
     (1)2       2) 3  3) 4  4) 5 

115  sMsd dy ikMnHy sdn huMdy hn? 
  (1) 2              (2) 3  
  (3) 4              (4) 5 

117 .Which type of judicial system is 
established in India? 
(1)Dual Judicial System   
2) Single Judicial System 
3) Three type judicial System   
4) None of these 

116 Bwrq iv`c ikhVI inAWpwilkw dI 
ivvsQw kIqI geI hY? 
 (1)  dohrI inAWpwilkw  
 (2)  iekihrI inAWpwilkw  
 (3)  iqMn qrHW dI inAWpwilkw  
 (4)  iehnW iv`coN koeI nhIN 

118  From the following which cases are 
related to Civil Cases? 
(1)For Men             2) Officials  
3) Common People 4) For Ladies 

 

117  isivl muk`dmy hyT iliKAW iv`coN iks 
nwl sbMDq huMdy hn? 
 (1)  mrdW leI    (2) APsrW leI   
 (3) Awm lokW leI  (4) AOrqW leI 

119  How many members are elected from 
Punjab for Rajya Sabha? 
(1)5  2) 7  3)10 4) 15 

118   pMjwb ivc̀oN rwj sBw leI ikMny mYNbr 
Byjy jWdy hn? 
(1)   5   (2)7      (3)10      (4)15 

120  Name the place where people come 
together to converse and discuss the 
national and International issues? 
(1)Lok Sabha  2) Rajya Sabha  
3) Vidhan Sabha 4) Parliament 

119 aus sMsQw dw nW d`so ij`Qy bYT ky lok 
rwStrI AQy AMqr rwStrI iviSAW qy 
g`lbwq krdy hn? 
  (1)  lok sBw   (2)rwj sBw  
(3)  ivDwn sBw     (4)sMsd 

121 ਲੋਹੜਾ” ©ਬਦ ਦਾ ਸਮਾਨਾਰਥਕ ©ਬਦ ਚੁਣੋ-  

1) ਕਿਹਰ           2) ਅੱਤ           3) ਿਜਆਦਤੀ                                      4) ਉਪਰੋਕਤ ਸਾਰੇ। 

122 ਖ਼ੁ©ੀ, ਗਮੀ, ਹੈਰਾਨੀ, ਡਰ, ਪ�ਸੰਸਾ ਆਿਦ ਦੇ ਭਾਵ ਪ�ਗਟ ਕਰਨ ਵਾਲ਼ੇ ©ਬਦ ਹੁੰ ਦੇ ਹਨ: 

1) ਸੰਬੰਧਕ        2) ਿਵ©ੇ©ਣ     3) ਿਕਿਰਆ-ਿਵ©ੇ©ਣ   4) ਿਵਸਮਕ 

123 ‘ਯੋਜਕ ਦੀਆਂ ਿਕੰਨੀਆਂ ਿਕਸਮ� ਹਨ? 

1) ਦੋ                        2) ਪੰਜ                 3) ਛ ੇ               4) ਅੱਠ। 

124 ‘ਬੱਚਾ ਪਤੰਗ ਉਡਾ�ਦਾ ਹੈ।” ਵਾਕ ਿਕਹੜ ੇਕਾਲ ਨਾਲ਼ ਸੰਬੰਧ ਰੱਖਦਾ ਹ?ੈ 

1) ਭੂਤ ਕਾਲ       2)ਵਰਤਮਾਨ ਕਾਲ      3)ਭਿਵਖਤ ਕਾਲ     4)ਉਪਰੋਕਤ ਿਵੱਚ� ਕੋਈ ਨਹ� 

125 ਸੰਬੰਧਕ ਦੀਆਂ ਿਕੰਨੀਆਂ ਿਕਸਮ� ਹਨ? 

1)   ਦੋ              2) ਪੰਜ              3) ਛੇ           4) ਅੱਠ। 



 
 

126 . ‘ਨੌਕਰ’ ਦਾ ਸਹੀ ਪੁਿਲੰਗ ©ਬਦ ਹੋਵੇਗਾ: 

1) ਮਾਲਕ      2)ਨੌਕਰਾਣੀ     3) ਨੌਕਰੀ    4) ਉਪਰੋਕਤ ਿਵੱਚ� ਕੋਈ ਨਹ�। 

127 ‘ਉਹ ਥ� ਜੋ ਸਭ ਦੀ ਸ�ਝੀ ਹੋਵ'ੇ ਦੀ ਥ� ਸਹੀ ਇੱਕ ©ਬਦ ਹੋਵੇਗਾ: 

1) ਅਖਾੜਾ               2) ©ਾਮਲਾਟ               3)ਤਬੇਲਾ               4)ਟਕਸਾਲ। 

128 ‘ਅੰਨ� ਾ' ਦਾ ਸਹੀ ਿਵਰੋਧੀ ©ਬਦ ਹ ੈ

1) ਕਾਨਾ       2) ਸੁਜਾਖਾ       3)ਿਸੱਧਾ         4) ਉਪਰੋਕਤ ਿਵੱਚ� ਕੋਈ ਨਹ�। 

129 ਹੇਠ� ਿਦੱਤੇ ਿਚੰਨ� � ਿਵੱਚ� ਪ�©ਨ-ਵਾਚਕ ਿਚੰਨ�  ਚੁਣੋ : 

1) (-)               2) (,)                    3) (1)                 4)  (?) 

130 ਹੇਠ ਿਲਿਖਆਂ ਿਵੱਚ� ਪੜਨ�ਵ ©ਬਦ ਿਕਹੜਾ ਹੈ ? 

1) ਉਹ        2) ਿਵਹਲਾ          3)ਫੁੱ ਲ          4) ਮੰੁਬਈ 

Read the following passage and answer the questions: 
 
Our body is made up of 60% water and we lose the essential fluid every minute of a 
day as we breathe, digest and work up a sweat. It is important that we put back every 
drop. So, drink eight 230 ml glasses of water everyday - that’s the minimum amount of 
water our body needs daily. Many times when we think we are hungry, sleepy, 
depressed or irritated, we are actually just dehydrated. Drinking enough water helps 
us fight water retention. If we remain in a semi dehydrated state all the time, our health 
deteriorates. When we are properly hydrated or having a proportionate amount of 
water, all systems of our body operate properly. Water flushes out our system and 
releases excess fluids. If our goal is to lose weight, water is a must. When we are 
dehydrated our body sends signals, but many of us mistake those thirsty signals for 
hunger and take in hundreds of calories. Drinking water can be a powerful appetite 
suppressant. Our body needs plenty of water for digestion also. We don't feel hungry 
when our stomach is full. So drink two glasses of water after every meal. We will eat 
less! Our body uses water for fat. 

131 How do we lose water from our body? 

1.Through sweating 
2.In breathing 
3.In digestion 
4.all of the above 

132 Our body systems work properly_________. 

1.when we lose weight 
2.when we enjoy a sound sleep 
3.. when we are properly hydrated 
4. when our stomach is full 



 
 

133 The best way to lose weight is to_________. 

1.eat less starchy food 
2.take weight reducing pills 
3.exercise at least twice a day 
4.drink plenty of water 

134 What is the meaning of ‘appetite’? 

1.stomach   2.hunger   3.calories   4.fat 
135 What should be the minimum daily intake of water? 

1.eight glasses            2. 230 ml 

3.eight glasses            4.1000 ml  
136 Who is that boy_______   the black jacket? (Choose the correct preposition) 

1.on        2.into          3.in          4.with 
137 Raman asked me, “Did you see the football match on television last night?” 

(Choose the correct reported speech) 

1.Raman asked me whether I saw the football match on television the earlier 
night. 
2.Raman asked me whether I had seen the football match on television the 
earlier night. 
3.Raman asked me did I see the football match on television the earlier 
night. 
4.Raman asked me whether I had seen the football match on television the 
earlier night. 

138 She ____ (buy) a car one week ago.(Choose the correct form of the verb given 
in bracket) 

1.bought                          2.has bought 
3.has been buying       4.had been buying 

139 She had cooked some dishes.(Choose the correct passive form of the given 
sentence) 

1.Some dishes had been cooked by her. 

2.Some dishes was cooked by her. 

3..Some dishes have been cooked by her. 

           4.Some dishes has been cooked by her 

140 I would rather have a copy _____ a book. (Choose the correct conjunction) 

1.then           2.than             3.when            4.that 



 
 

141 ‘नायक’ श᭣द का सही ᳲलंग पᳯरवतᭅन ᭍या ह।ै 
1) नायकᳱ    2) नाियका  
3) नायकन    4) इनमᱶ से कोई नहᱭ। 

142 ‘बटेी’ श᭣द का सही वचन पᳯरवतᭅन चिुनए।  
1) बेटीया ँ    2) बᳯेटया ँ 
3) बेटीएँ     4) सभी िवक᭨प 

143 ‘अ᭠धरेा’ श᭣द का सही िवलोम िवक᭨प चनुᱶ।  
1) अ᭠धकार     2) उजाला 
3) चमकᳱला     4) इनमᱶ से कोई नहᱭ 

144 ‘सं᭄ा’ श᭣द चिुनए।  
क) आपका     ख) घर  
ग) अ᭒छा    घ) इनमᱶ से कोई नहᱭ 

145 ‘नतीजा’ श᭣द का सही अथᭅ चनुकर िलिखए। 
1) पᳯरणाम     2) ᮧितफल 
3) उᱫर    4) सभी िवक᭨प सही  

146 शु᳍ श᭣द का चयन कᳱिजए।  
1) कसम    2) कशम 
3) क᭭म     4) इनमᱶ स ेकोई नहᱭ 

147 ‘᭭थापना’ श᭣द का सही िवशषेण िवक᭨प चिुनए।  
1) ᭭थािपत     2) ᭭थाप᭜य 
3) ᭭थापना     4) इनमᱶ स ेकोई नहᱭ 

िन᳜िलिखत प᳒ांश को पढ़कर ᳰदए गए बᱟवैकि᭨पक ᮧ᳤ᲂ के उᱫर दीिजए-        
ᮢेता यगु मᱶ एक िव᳇ान ᱟए िजनका नाम था अ᳥ावᮓ। जब उनका ज᭠म ᱟआ तो वे आठ जगह स ेटेढ़े थ।े 

आठ ᮧकार कᳱ वᮓता के कारण ही उनका नाम अ᳥ावᮓ पड़ा। एक बार व ेराजा जनक के दरबार मᱶ गय ेतो उनके 
टेढ़े-मेढ़े शरीर को दखेकर सभी हसँने लगे। 
 
148 अ᳥ावᮓ के शरीर मᱶ ᳰकतनी वᮓता थी- से  

1) चार जगह से     2) आठ जगह से 
3) सात जगह स े   4) कहᱭ नहᱭ 

149 अ᳥ावᮓ ᳰकसके दरबार मᱶ गये -  
1) राजा दशरथ के दरबार मᱶ  2) राजा जनक के दरबार मᱶ 
3) कंस के दरबार मᱶ   4) इनमᱶ स ेकोई नहᱭ  

150 अ᳥ावᮓ का अथᭅ ᭍या ह-ै 
1) आठ वᮓᲂ वाला     2) आठ ᭭थान से टेढ़ा 
3) दोनᲂ िवक᭨प सही    3) इनमᱶ स ेकोई नहᱭ 

.  
  

 
 



 


